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3 9:20[ 9:00 A& R B F4 X 100mR ¥ B 11 24X 8
4 9:30| 910 [RH—METUM|EK—HEZXF100m F1L—R 16 248
5 9:40[ 920 |RA—METUN | EE—HEBF100m F1L—R 33 4HRR 8
6 10:00( 940 |[RA—METUM | EK—HEZF100mH F1L—R 5 148
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8 10:15| 955 | RA—KEETH|GPZF100mH T B 24 3—2+10
9 10:30| 10:10 | RE—METUM | BHE—EF110mH EIL—R 8 148
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14 11:35| 11:15 | R¥—M&ETUF GPEF100mWR ¥ B 17 2428
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36 15:35 15:15 BEM PR LF4 %X 100mR R B 8 148
37 15:40| 15:20 BEM FEREF4 X 100mR RO 8 148
38 15:45| 15:25 BEM — SR ZF4 x 100mR RO 3 148
39 15:50 15:30 BER — =R EBF4 x 100mR RO 4 148




